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1. EFIHE human capital return f{ A market portfolio LI&: I size effect 182577 . II: book—to-market effect
YL T I ESEHISRE Beta ([BAUEE, () Ionly (2 IandIlonly (3)IandIlonly (4) II amd III
only (5I,ILandIII (6) LALEFE.

2. TIRERFERSRITER 3 AR RETER  IFMY IRR SRR E SR AIIRERET I — &K,
ML ERAGR B IERE ? (DIERE QFSERR (O)AISRMRHY IRR KHA dsk-free rater JEFETT (4)AIR{RHY IRR
IINFA risk-free rate » NEET LA LEIE

3. AT AEME T LIRRAIERE— B synergy HEE > 0: I EHAFL 3 E stock return >0 > IL:3F
A2 3 4 ROLE#EES ROIFGE >0 - NLHHATZ 3 £ stock return > 0 » IV:&{if 3 1%
BE#EH AT ERL g T (divested). (DI ()L (3)II (HIV (S) Iand II (6) II and III (7) III and IV (8) I and
I (9L EEFE

4, B FHYBESTR—EEEGUE ? (1) Purchasing Power Parity. (II) covered interest rate
parity. (III)uncovered interest rate parity: (1)I only (2)II only (3)III only (4)I and II
(5)II and III (6)I and III (7)I, II, and III (8) None of the above

5. KKK AENTEMER | BTUEAHTEERNATRE  BEUREETNER - 50 FHSTIE
% > DIFA{EE4(E R ? EPS HAZE{E, EPS BENZ A, stock’ s expected return, stock price,
BEEA 0 (1) 1 (2) 218 (3) 34 (4) 41H (5) 51&

6. {5 FISE AR EIERS A (Amaturity (B)duration (C)convexity (D)yield: (DA (2B ()AL (4)B,C
5)AB,C (6)B,C.D (7)B,D (8AB,C,D

7. Which of the following Bonds has the larger price change for a 10 basis point change in yield ? Bond A:
Maturity: 10 years. Price = $80. Face value=$100. Bond B: Maturity: 10 years. Price = $100. Face value=
$100. A and B have the same credit risk. (1)A (2)B (3)A=B (4) Cannot determine

8. Which of the following is most correct? (1) Zero-coupon bonds have no re-investment risk. (2) Over time,

the price of a zero-coupon bond will rise if interest rate does not change. (3) Bond price will decrease if the

credif rating of the issuer gets better. (4) (1) and (2) only. (5) (1)(2) and (3). (6)LA_EEFE

/NEJAILEEB. Before merger announcement, A’s stock price= $20 per share. B’s share price= $10. Number

of shares: A = 10 shares, B= 10 shares. SynergyZ5ifE= $100. /A FJA offers 8 common shares to buy B. After

M%b‘zﬁzibﬂ,é B)
/vzj

o

the announcement, A’s share price= B’s share price=
2 B ——

10. ABC Stock has the following payoff: =0 t=1 year later

ABC Stock $80 <: $110
$60

Risk-free rate is 5% S5 B2 H ERE( JBFHERES70~ ZRIYE ABC &= )i replication portfolio( B[] tracking
portfolio ) e
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— (1557 5% x,y MEBE Z BEtERoi R f(x,7)= %(zxuﬂ y: x=0,1,2,3>

y=0,1,2 « 53K
(DEBERRE f(x) * f() ° (EHET41057)
QBREISIRREL /(x| Y =1) ZRETE - (YA 4 5 7)

=~ FEERTINE: (1053)

1B ARE T » {a158 Type I Error 0 Type II Error ? 355 HEWE S ~ WAL
FREREL -

2.5 o #FE RREEE /K#E (significant level ) ?

=+ (10%) FIMEBEEEZ ERNEERS00 ce. » BREEREIA3 cc. -
NERYEEEEER - HERSEERAESEZ V8 R495 cc. ) BEERS
c.c. BVFI A _EHEERL - FEC.C=95% T » B A B BRI EHEERES o #
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4 0.00 0.0 0.02 0.03 0,04 0.05 0.06 0.07 0.08 0.09
~3.4 | 0.0003 0.0003 0.0003 0.06003 00003 0.0003 00003 0.0003 0.0003 0.0002
-33 | 0.0005 0Q.0005 00005 00004 00004 0.0004 00004 00004 0.0004 0.0003
-3.2 1 0.0007 0.0007 00006 00006 00006 0.0006 00006 0.0005 00005 0.0005
~3.1 | 0.0010 0.0009 00009 (.0009 00008 0.0008 0.0008 00008 0.0007 0.0007
=3.0 [ 0.0013 00013 00013 00012 00012 00011 00011 00031 0.001¢ 0.0010
-29 | 0.0019 00018 00017 00017 00016 000/6 00015 00015 00014 00014
-2.8 | 0.0026 0.0025 0.0024  0.0023 00023 0.0022 0.0021 ¢0021 00020 0.0019
-2.7 | 0.0035 0.0034 0.0033 0.0032 0.0031 0.06030 00029 00028 00027 0.0026
-26 | 0.0047 0.,0045 0.0044 0.0043 0.0041 0.0040 00039 0.0038 00037 0.0036
—2.5 | 0.0062 0.0060 Q.0059 0.0057 0.0055 0.0054 00052 0.0051 00049 0.004%
—24 | 00082 00080 00078 0.0075 0.0073 00071 00069 0.0068 00066 0.0064
-2.3 | 0.0107 0.0104 00102 0.0099 0.00% 0C.00%4 0.00901 00089 00087 0.0084
-22 ] 00139 00136 00132 0.0[29 0.0125 0.0122 00119 0.01(6 0DII3 0.0110
' ~2.1 { 0.0197 0.017% 00170 0.0166 00162 0.0158 00154 00150 00186 0.0)43
’ -2.0 | 00228 0.0222 0.02(7 090212 0.0207 0.0202 00197 00192 0.0188 0.0183
~1.9 | 0.0287 0.0281 0.0274 0.0268 0.0262 0.0256 0.D250 00244 00239 0.0233
: -1.8 | 0.0359 0.0352 0.0344 00336 0.0329 0.0322 0.03t14 0.0307 00301 0.029%4
; -1.7 | 0,0146 0.0436 0.0427 0.0418 00409 0.040) 00392 0.0384 0.0375 0.0367
—1.6 | 0.0548 0.0337 0.0526 0.0516 00505 0.0495 0.0485 0.0475 Q0465 0.0455
=15 | 0.0668 0.0655 0C.0643 0.0630 0.06(8 0.0806 0.0594 0.0582 0.0571 0.0559
—1.4 { 0.0808 00793 0.0778 00764 040749 00735 00722 00708 00604 0.068]
~1.3 1 0.0968 0.0951 0.0934 0.0%(8 0.0901 0.0885 0.0869 0.0853 0.0838 0.0823
=12 | 03151 0.1131  0.1112 0.1093 01075 0.1056 0.1038 0.1020 0.1003  0.0985
—1.4 [ 01357 0.1333 0.1314 0.1292  €.12201  0.1251 0.1230 0.12])0 01190 0.}1170
—1.0 | 0.1587 0.1562 0.1539 @.151S 01492 0.1469 01446 0.1423 0.1401 0.1379
~0.9 | 0.1841 0.1814 0.1788 0.1762 0.1736 0.1711 0.1685 0.1660 (0.1635 0.161!
=08 [ 2119 02090 02061 02033 02005 0.1977  0.1949 0.1922  0.1894  0.1847
-0.7 | 0.2420 0.2389 0.2358 02327 02296 02266 02236 02206 02177 02148
-0.6 | 0.2743 02709 02676 02643 02611 02578 02546 0.2514 02483 - 02431
~0.5 | 0.3085 0.3050 0.3015 0.2981 02946 0.2912 02877 0.2843 0.2810 0.2776
~0.4 | 0.3446 03409 03372 03336 03300 03264 03228 03192 03156 03121
-0.3 | 03821 Q3TRI 03745 DATIT7 036A9 03432 03584 03557 (3520 N.3483
~0.2 | 0.4207 04168 04129 04090 04052 04013 03974 03936 03897 0.3859
=0.1 | 04602 04562 04522 0.4433 04443 04404 04364 04325 04286 0.4247
—~0.0 | 0.5000 04960 04920 0.4880 0.4840 04801 04761 04721 04681 04641
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v 0.995 0.95 0.975 0.95 0.05 0,025 0.01 0.005
1 0.09393 | 0.0%157 | 0.0°%82| 0.02383 3.841 5.024 6.635 7879
2 ¢.0100 | 0.0201 0.0506 | 0.103 5.991 7.378 9.2{0 10.397
3 0.6717 | 0115 0.2186 0.352 7.815 9.348 11,345 12.838
4 0.207 0.297 0.484 0.711 9.488 11,143 13.277 14.860
5 0.412 0.554 Q.83! 1.145 11.070 12.832 15.086 16.750
6 0.676 (0.872 1.237 1.635 12.592 14.449 16812 18.548
7 0.989 1.239 1.650 2167 14.067 16.013 18,475 | 20.278
8 1.344 1.646 2.180 2.733 15.507 17.535 | 20.090 | 21.955
9 1.735 2.088 2.700 3.328 16.919 19,023 | 21.666 | 23.589
10 2.156 2.558 3.247 3.940 18.307 20.483 23.209 25.188
11 2.603 3.053 3816 4.575 19.675 21.920 | 24.725 26.757
12 3.074 3.571 4.404 5226 21.026 | 23.337 | 26217 | 28.300
13 3.565 4.107 5.069 5.892 22.362 | 24.736 | 27.688 | 29819
14 4.075 4.650 5.626 6.571 23.685 26.119 | 29.141 31.319
15 4.601 5.229 6.262 7.261 24996 | 27.488 30578 | 32.80)
16 5.142 5.812 6.908 7.962 26.296 28.845 32.000 34.267
17 5.697 6,408 7.564 8.672 27.587 | 30.t9 33.409 35.718
18 6.265 7.015 8.231 9.3%0 28.869 | 31.526 | 34.803 37.156
19 6.844 7.633 8.907 10,117 30,144 | 32.852 | 36.191 38.582
20 7.434 8.260 9.591 10.851 31.410 | 34.170 | 37.566 | 39.997
21 8.034 8.897 10.283 11.591 32.671 35.479 | 38.932 41.40}
22 8.643 9,542 10.982 12338 33.924 36.076 | 40.289 | 42.796
23 9260 |10.196 11.689 13.061 33.172 | 38.076 | 41.638 | 44,18t
24 9.886 | 10.856 12.401 13.848 36.415 |- 39.364 | 42.980 | 45.558
25 | 10,520 |11.524 13.120 14611 37.652 40.646 | 44314 | 46928
26 111160 [12.198 13.844 15.379 38.885 41.923 45.642 48.290
27 1 11.808 |12.879 14.573 16.151 40.113 | 43,194 | 46.963 | 49.645
28 | 12.461 13.565 15.308 16.928 4%.337 44,461 48278 | 50.993
29 | 13.121 14.256 16.047 17.708 42.557 45722 | 49.588 52.336
30 ] 13.787 |14.953 16.791 18.493 43.773 46.979 | 50.892 53.672




